T2(AEX

YU (S)

T
o|z 2Tols| A oy chatF £ 685,150
HTol3 2rol3 Y 30FE 71EA 2 T HE Y 1,592,800
ol g7olz] o™ 30FE 7|8 ALY Qe W HXF 7Y 1,881,000
HTol3 g% 30Fd 7|gA v, SEI 7Y 760,100
o|z 20219 B4 Hol3| ol APLhY HPEEH| X|Z(S UM EA, 42T, 2|AX|2|of 4,000,000
ol 2o WY 30FE 7|EA WA 2 Chat 7Y 198,000 =8
HTol3 H296%| LAIZ| 14 229 = ZHE 3] 600,000
o|z H2963| AA|Z| 1X 23] & ZHE D) 60,000 !
o|z Tolg| 7 30FE 7| Al WAL Bordh 9 4k 1Y 350,000 22
o|z 2Tolg| 7 305 J|HA WAL 2HYEE UE 861,300 22
o|z ol 7H 30FE 7| A WAL 71 Chik(W) # Y 729,000 22
o|z ol ZH30FE 71 g4 WA G Chat A" A, HAHY 5) 430,000 22
o|z 2ozl o H30:E 7| A4 M 5,000,000
o|z ERH| Y tcafe(F A M2962| HF2l2|(AAIZ]) M2kt 23|10 = 7HEZ| JH| 311,500
o|z 2ol L Hol W ol {A Chatz 7 743,470 22
g7olz 20219 B4 H70l5| of @ APy ApEtat| 3|k XZ(EIAX|20E, #i0]F) 1,000,000
g7z o|dm S (AL, ofHlH| X|Z= &¢I CHH|) 340t M|Z 77,000 £E
g7olz M1kt gz 28 % o/} WO ChatE 7Y 817,480 22
g7z HM2972| golBl(M 1A Fal2l) M4t 229 £ ZHES|(HE) 352,000 0
g7olz SE2I AL Hst FE7| o HA-E FH) 143,000 22
g7olz Hl2972| ETol2|(M1xt Fa2]) M2At 22/ = ZHHR|(HIE) 479,000 0
g7z oY E&4 W ol Ui g CtitR 7E 755,080 22
g7z O|@ H{X|= W OtmTo|3| #HE 7| w4=0t X% 132,000 22
g7z OtZ7o|3| WHAM A oA RO T2 Z8t 7Y 100,000 22
289z M2953| FFog|(AAl2) HZE 14 2G| 20 = 2HE 3| (W 280,000




222 2021.05.04 Botets XA 22| 2o = ZHEF| 4% 115,000 7t
222 2021.06.03 MHOIFEL (F) UL &ety H2962| Holz|(LAlz)) HeE MAt 2B 2lo = ZHET|(HIE) 290,000 7t
ANEX A ¥z [ 2021.04.19 2o H2962| FTolz(PAl2)) BHER AR ZHE 2] 7 Z|(HIE) 346,500 7tE
BHEX =AY | 2021.04.20 ZA|Z|AF Qrabe} H2962| HTolz(PAlz)) BHERZAIRIRZ 2HE 2] 242 119,000 7tE
BHEX =AY | 2021.04.20 YIt 2O FO 2962 HTolz(PAl2)) BHERZAIRIRZ] 2HE 2] 242 60,000 7tE
AHNEX A ¥ [ 2021.06.14 otak 2972 FTolz|(M1At Fe2l) BHEX A 2] 2|0 2 ZHED|(HIE) 250,000 7tE
ANEX =AY [ 2021.06.15 A 2972 FTolz|(M1At Fe2l) BHEX A2 2] 2|0 2 ZHED|(HIE) 180,000 7tE
7|2y 9| 3 2021.04.19 2 AT HM2962| Eol(YAlZ]) 7|1 Y Ae| ZHErS| THE|(HHE) 340,000 7tE
7|2y 9| 3 2021.04.20 B & At M2963| 7o 2|(AAlB) 7|2 A ZHED| HE|(H ) 167,000 7te
7|2 9| 3 2021.04.20 g o|x] Mojo] = M2963| HFo2|(AAlB) 7| H A ZHED| HE|(H ) 72,100 =
7|2 RE 2021.06.14 otak H2972| HFol2|(M1AL Fa2l) 7|2 E 2] 2o = 7t E) 200,000 7tE
7|2 RE 2021.06.15 E TN H2972| HFol2|(HM1AL Fa2l) 7|2 E 2] 2o = 7HE (I E) 127,000 7tE




